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QUESTION 1
Given the code fragment:

Path pl = Paths.get("/Pics/MyPic.jpeg"); System.out.printin (p1.getNameCount() + ":" + pl.getName(1) + ":" +
pl.getFileName());

Assume that the Pics directory does NOT exist. What is the result?
A. An exception is thrown at run time.

B. 2:MyPic.jpeg: MyPic.jpeg

C. 1:Pics:/Pics/ MyPic.jpeg

D. 2:Pics: MyPic.jpeg

Correct Answer: B

QUESTION 2

Given the content of the employee.txt file:

Every worker is a master.

Given that the employee.txt file is accessible and the file allemp.txt does NOT exist, and the code

fragment:

try {
List<String> content = Files.readAllliness(Paths.get ("employea.txt"));
content.stream() . forEach(line -> {
try {
Files.write |
Paths.get("allemp.txt"),
line.getBytes (),
StandardOpenOption.APPEND
yi
} catch (IDException e) { System.out.println("Exception 1"); }
I3
} catch {[IOException e} { System.out.println("Exception 2"}); }

What is the result?

A. Exception 1

B. Exception 2

C. The program executes, does NOT affect the system, and produces NO output.

D. allemp.txt is created and the content of employee.txt is copied to it.
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Correct Answer: A

QUESTION 3

Given the code fragments:

4.

void doStuff() throws ArithmeticException, NumberFormatException, Exception {
5.

if (Math.random() >-1 throw new Exception ("Try again™);

6.

}

and

24,

try {

25.

doStuff ():

26.

} catch (ArithmeticException | NumberFormatException | Exception e) {
27.

System.out.println (e.getMessage()); }

28.

catch (Exception e) {

29.

System.out.println (e.getMessage()); }

30.

}

Which modification enables the code to print Try again?

A. Comment the lines 28, 29 and 30.

B. Replace line 26 with: } catch (Exception | ArithmeticException | NumberFormatException e) {

C. Replace line 26 with: } catch (ArithmeticException | NumberFormatException e) {
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D. Replace line 27 with: throw e;

Correct Answer: C

QUESTION 4

Given the code fragment:

List str = Arrays.asList ("my", "pen", "is", "your\\', "pen");
Predicate test = s -> {

inti=0;

boolean result = s.contains ("pen");
System.out.print(i++) +":");

return result;

h

str.stream()

filter(test)

findFirst()

.ifPresent(System.out ::print);
What is the result?

A.0:0:pen

B.0:1:pen
C.0:0:0:0:0:pen
D.0:1:2:3:4:

E. A compilation error occurs.

Correct Answer: A

QUESTION 5

Given the definition of the Vehicle class:
Class Vehhicle {

int distance; //line n1

Vehicle (int x) {
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this distance = x;

}

public void increSpeed(int time) { //line n2
int timeTravel = time; //line n3

class Car {

int value = 0;

public void speed () {

value = distance /timeTravel;
System.out.println ("Velocity with new speed"+value+"kmph");
}

}

new Car().speed();

}

}

and this code fragment:

Vehicle v = new Vehicle (100);

A. increSpeed(60); What is the result?
B. Velocity with new speed

C. A compilation error occurs at line nl.
D. A compilation error occurs at line n2.
E. A compilation error occurs at line n3.

Correct Answer: A
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